DNA AND PROTEIN SYNTHESIS QUESTIONS
22. In a portion of a gene, the nitrogenous base sequence is T-C-G-A-A-T. Which 
      nitrogenous base sequence would normally be found bonded to this section of the gene? 
      (1.) A-C-G-T-A-A  (2.) A-G-C-T-T-A  (3.) A-C-G-U-U-A  (4.) U-G-C-A-A-U 

23. The position of an amino acid in a protein molecule is determined by the 
      (1.) concentration of amino acids in the cytoplasm (2.) amount of ATP in the cell 
      synthesizing the protein (3.) sequence of nitrogenous bases in DNA (4.) sequence of 
      amino groups in an amino acid 

24. How would the complementary strand of DNA appear if the original strand of 
      DNA contained the bases T-A-G-C in that order? (1.) U-A-C-G (2.) G-C-A-T 
      (3.) T-A-C-G (4.) A-T-C-G 

25. A strand of messenger RNA is transcribed from an original strand of DNA. The original bases on the DNA strand were T-A-C-G. What is the base sequence on the RNA  strand produced from this? (1.) U-A-G-C (2.) T-A-G-C (3.) C-G-A-U (4.) A-U-G-C 

26. During protein synthesis, which type of molecule attaches particular amino acid molecules and positions them in specific positions on the polypeptide chain? (1.) DNA (2.) mRNA  (3.) tRNA (4.) ADP 

27. With which cellular activity is the replication of DNA most closely associated?      (1.) mitosis (2.) aerobic respiration (3.) transport (4.) polysaccharide synthesis 

Match each of the following terms with a statement from the list provided which best associates with that term. 
28. polypeptide 
29. template 
30. replication 
31. triplet 
32. cloning 
33. double helix 

34. In the cytoplasm, messenger RNA becomes attached to the (1.) cytoplasm 
      (2.) chloroplasts (3.) centrosomes (4.) ribosomes 

35. Select the type of nucleic acid molecule that is best described by the following 
      phrase:  carry genetic information from the nucleus to the ribosomes. 
      (1.) DNA molecules, only  (2.) Both DNA and RNA molecules 
      (3.) RNA molecules, only   (4.) Neither DNA nor RNA molecules 

36. The correct order of molecules involved in protein synthesis is 
      (1.) messenger RNA, transfer RNA, DNA, polypeptide 
      (2.) transfer RNA, polypeptide, DNA, messenger RNA, DNA 
      (3.) DNA, messenger RNA, polypeptide, transfer RNA 
      (4.) DNA, messenger RNA, transfer RNA, polypeptide 

Use the diagram below at the right and your knowledge of the living environment to answer questions37 through 41 which follow.   The diagram represents molecules involved in protein synthesis.  

	37.  In plant cells, molecule 1 is found in the  (1.) centriole  (2.) cell wall  (3.) nucleus  (4.) ribosome 

38.  The building blocks of molecule 3 are known as  (1.) amino acids  (2.) nucleotides 
(3.) fatty acids  (4.) monosaccharides 

39.  Where do the chemical reactions that are coded for by molecule 2 take place?  (1.) in the vacuole  (2.) in the lysosome  (3.) on the plasma membrane  (4.) at ribosomes  

40.  Molecule 2 is RNA.  List two reasons it can be easily determined this molecule is RNA by looking at its structure. 

41.  Molecule 3 is known as  (1.) DNA  (2.) RNA  (3.) a polypeptide  (4.) a fatty acid
	


42. Some events that take place during the synthesis of a specific protein are listed below. 

(A) Messenger RNA attaches to a ribosome. 
(B) DNA serves as a template for RNA production. 
(C) Transfer RNA bonds to a specific codon. 
(D) Amino acids are bonded together. 
(E) RNA moves from the nucleus to the cytoplasm. 

The correct order of these events is   (1.) B --> E --> A --> C --> D 
(2.) B --> C --> E --> D --> A  (3.) D --> A --> E --> C --> B 
(4.) C --> B --> A --> E --> D 
A. another name for a protein �B. to make a copy of DNA �C. a long starch molecule �D. something which is copied �E. sequence of nitrogenous bases which codes for an amino acid �F. an identical organism copy �G. the shape of DNA 
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